Division using Repeated Subtraction


You can work out 12 ÷ 3 by taking off threes until you get to zero.





Like this:


12 - 3 - 3 - 3 - 3 = 0


That means there are four 3s in 12.





Use the same method to work out the answers to these questions.





1. 15 ÷ 5





2. 20 ÷ 4





3. 35 ÷ 5





4. 60 ÷ 10





5. 18 ÷ 3





6. 24 ÷ 4





7. 16 ÷ 4





8. 36 ÷ 12





9. 28 ÷ 4





Sometimes when you work out a division using repeated subtraction, you are left with a remainder.





Like this:


17 ÷ 4


17 - 4 - 4 - 4 - 4 = 1





I can’t take another 4 away so the answer to 17 ÷ 4 is:


4 remainder 1





Have a go at these questions which all have a remainder.





7. 29 ÷ 4





8. 38 ÷ 12





9. 41 ÷ 4





4. 64 ÷ 10





5. 17 ÷ 3





6. 29 ÷ 4





1. 19 ÷ 5





2. 26 ÷ 4





3. 37 ÷ 5





Extension


Have a go at these trickier divisions using repeated subtraction.





7. 130 ÷ 13





8. 95 ÷ 12





9. 123 ÷ 8





4. 53 ÷ 17





5. 79 ÷ 32





6. 120 ÷ 40





1. 35 ÷ 15





2. 60 ÷ 12





3. 68 ÷ 13








